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Check your work 
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Match the shapes  
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Identify properties
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Cube

Cuboid

Cubes have 6 faces, 12 edges and 8 vertices.
All sides on a cube are equal length.
All faces are square in shape.

A cube is a type of cuboid.

Cuboids have 6 faces, 12 edges and 8 vertices.

All the faces on a cuboid are rectangular.
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Sphere

Spheres have either 0 or 1 faces, 0 edges and 0 vertices.

Ellipsoid

Ellipsoids have either 0 or 1 faces, 0 edges and 0 vertices.
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Cylinder

Cylinders have either 2 or 3 faces, 0 or 2 edges, and 0
vertices.

Cone

Cones have either 1 or 2 faces, 0 or 1 edges, and 1 apex
(which is described by some mathematicians as a vertex).
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Triangular Prism

Hexagonal Prism

Triangular-based Pyramid

Square-based Pyramid

Triangular Prisms have 5 faces, 9 edges, and 6 vertices.

The two faces at either end are triangles, and the rest of the
faces are rectangular.

Hexagonal Prisms have 8 faces, 18 edges, and 12 vertices.

The two faces at either end are hexagons, and the rest of
the faces are rectangular.

Triangular-based pyramids have 4 faces, 6 edges and 4
vertices.

The base is a triangle. All of the faces are triangular.

If the triangular faces making up the prism are all
equilateral, then the shape is also called a Tetrahedron.
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Square-based Pyramid

Square based pyramids have 5 faces, 8 edges and 5 vertices

The base is a square. All the other faces are triangular.

Hexagonal Pyramid

Hexagonal pyramids have 7 faces, 12 edges, and 7 vertices.

The base is a hexagon. All of the other faces are triangular.
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LINE SYMMETRY SHEET 11 L\

Use the mirror lines to complete the rest of these patterns.
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LINE SYMMETRY SHEET 11 ANSWERS A\

Use the mirror lines to complete the rest of these patterns.
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Coordinate Plane Grid

How Coordinates Work

When dealing with coordinates the most important fact to remember is that
the x coordinate (the horizontal coordinate) always comes first
and the y coordinate (the vertical coordinate) always comes second.

This can be remembered with the saying ‘Along the corridor and then up (or down)
the stairs.

So the coordinate (4,7) means 4 squares along (to the right) and 7 squares up.

The coordinate (-2,-4) means 2 square along (to the left) and 4 squares down.
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Al coordinates consist of two numbers separated with a comma and usually within parentheses.
The first number is the horizontal coordinate, or the number along the x axis.

The second number is the vertical coordinate, or the number up the y axis.

So the coordinate (3,1) means 3 along and 1 up.

Often children get their coordinates the wrong way round and go up first and then along, ending up
with the coordinate (1,3).

An easy way to remember the correct way is

x is a cross so the x coordinate always goes across.’
We can also say that.

x always comes before y, so the x coordinate is always first.’
This means that...

« the first coordinate, the x coordinate, is the amount you go 'across'’;
« the second coordinate, the y coordinate, is the amount you go 'up' or 'down’.
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In the above example:
The red triangle is at coordinate (3, 4).

The yellow square is at coordinate (-3, 2).

The blue pentagon is at coordinate (-5, -2).

The green circle is at coordinate (1, -5).
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FIND THE COORDINATES 1

Use the coordinate grid to work out the coordinates below.

T d
L
A -2
by <t
1) circle (-5, 4) 2) square(__,__)
3) Hexagon(__, ) 4)  Frog(__,__)
5) Fish(__,_) 6) Pentagon(__,__)

7) Righttriangle (__,__)  8) Equilateral triangle (__, __)
9) Crab(__,__) 10) snail (__, __)
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FIND THE COORDINATES 1 ANSWERS

Use the coordinate grid to work out the coordinates below.

s 2 + L
@
€ 1S
JERER
A B
% <
1) Circle (-5, 4) 2) Square (3, 6)
3) Hexagon (-3, 6) 4) Frog (-6, -6)
5) Fish(2,-5) 6) Pentagon (5, -1)
7) Right triangle (6, 2) 8)  Equilateral triangle (-5, -3)

9) Crab(-2,2) 10)  snail (6, -3)
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ODivisibility Rule of 4:
228: v, *A number is divisible
T e by 4 if the last two digits
PUWEL divisible by 4.

1
768,456,240: 70 36
12 & Mol e
e 72:

1,234,567,890,116:
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“Rule for Divisibility by 8 ]
Last 3 digits form a number divisible by 8

19,6407

Look at last 3 digits 19,6ﬁ'_0
640 + 8 v/

Since 8 evenly divides 640,
19,640 is evenly divisible by 8




